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Bapuanr I

I. Iexcuk O-rpaMMaTHYECCKUE 3aJaHUSA

3aoanue 1

A.1)a;2)c;3)b

b.1)b;2)c;3)c

B.1)c;2)a;3)a

I1)a;2)b;3)c

HA.1)b;2)a;3)a

3aoanue 2

1) slid

2) shut

3) ground

3aoanue 3

1-6 2-3 3-54-2 5-1 6-7 7-4

3aoanue 4

1) b;

2) a;

3)a
I1. IlpoBepka MOHUMAHUA TEKCTA

3aoanue 1

1.B

2. A

3.D
I11. ITpoBepKa JIMHIBOCTPAHOBEAYECKUX 3HAHMI

3aoanue 1

1. B. Andrew and Edward Mountbatten

2. A. The Queen and her husband are the only British citizens who travel without

passports.

3. C. There is Lake Hillier that is particularly notable for its pink colour.

IV. IIpoBepka HaBBIKOB ayAUPOBAHUSA

3aoanue 1

Welcome to rush hour and its close friend an infuriating phenomenon known as traffic. If
you’re unlucky enough to commute in New York City or Los Angeles you could end up spending
the equivalent of three weeks per year stuck in traffic. Drivers know that accidents, construction,
stall vehicles and just a sheer number of people on the road all contribute to traffic.

The real culprit however is speed or rather sudden random fluctuations in speed. When
drivers travel at a constant rate traffic flows freely. But when even a single driver hits the breaks,
the flow is interrupted causing a chain reaction among the vehicles behind that driver. Those
vehicles must slow down to avoid a collision and then speed back up to restore the previous flow.
If the change in speed isn’t too drastic this leads to what, physicists call, synchronized flow. A
traffic jam occurs when drivers break abruptly. This causes the vehicles behind them to slow down
or even come to a stop. Vehicles enter the back of the jam at a faster rate than the slower moving
lead vehicles can accelerate out of it. The result: a traffic jam persists until the volume of incoming
vehicles drops slow enough to allow the lead vehicles to restore the flow.

So, what can be done to prevent traffic jams? Roads can be widened and traffic signals can
be better synchronized and researchers like the ones at Google can build driverless cars that travel
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at more constant speeds. Of course ultimately the only way to really avoid traffic is to stay off the
roads all together.
3aoanue 2

Statements True False Not Stated

The main reasons for traffic jams are accidents, +
construction and stall vehicles.

It’s more difficult for lead vehicles to accelerate out of +
a traffic jam than for vehicles that enter the back of it.

The best way to avoid traffic jams is to use alternative +
means of transport.

Bapuanr I1

I. Jlexcuko-rpaMMaTHYECK e 3aJaHUSA

3aoanue 1

A.1)c;2)c;3)b

b.1)c;2)b;3)a

B.1)a;2)b;3)a

I1)b;2)c;3)c

H.1)a;2)c;3)b

3aoanue 2

1) split

2) striven

3) rent

3aoanue 3

1-2 2-53-14-75-3 6-4 7-6

3aoanue 4

I)c;

2) a;

3)c
I1. IIpoBepka MOHMMaHUsA TEKCTA

3aoanue 1

1.B

2.D

3.B
I11. ITpoBepka JTUHIBOCTPAHOBEAYECKHX 3HAHUH

3aoanue 1

1. C. Bells beach

2. C. Boxing

3. C. The Leaf of Maple
IV. IIpoBepka HaBBIKOB ayAUPOBAHUSA

3aoanue 1

Welcome to rush hour and its close friend an infuriating phenomenon known as traffic. If
you’re unlucky enough to commute in New York City or Los Angeles you could end up spending
the equivalent of three weeks per year stuck in traffic. Drivers know that accidents, construction,
stall vehicles and just a sheer number of people on the road all contribute to traffic.
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The real culprit however is speed or rather sudden random fluctuations in speed. When
drivers travel at a constant rate traffic flows freely. But when even a single driver hits the breaks,
the flow is interrupted causing a chain reaction among the vehicles behind that driver. Those
vehicles must slow down to avoid a collision and then speed back up to restore the previous flow.
If the change in speed isn’t too drastic this leads to what, physicists call, synchronized flow. A
traffic jam occurs when drivers break abruptly. This causes the vehicles behind them to slow down
or even come to a stop. Vehicles enter the back of the jam at a faster rate than the slower moving
lead vehicles can accelerate out of it. The result: a traffic jam persists until the volume of incoming
vehicles drops slow enough to allow the lead vehicles to restore the flow.

So, what can be done to prevent traffic jams? Roads can be widened and traffic signals can
be better synchronized and researchers like the ones at Google can build driverless cars that travel
at more constant speeds. Of course ultimately the only way to really avoid traffic is to stay off the
roads all together.

3aoanue 2
Statements True | False Not
Stated
Everyone who commutes in New York or Los Angeles spends +

three weeks in traffic jams each year.

Among the factors influencing traffic jams there are accidents, +
construction and stall vehicles.

One of the ways to avoid traffic jams is to install a greater +
amount of better synchronized traffic signals.

Bapuanr 111

I. Iexcuk O-rpaMMaTHYIECCKUE 3aJaHUSA
3aoanue 1
A.1)b;2)b;3)c
b.1)b;2)b;3)a
B.1)a;2)b;3)c
I 1)b;2)b;3)c
H.1)b;2)a;3)a
3aoanue 2
1) slunk
2) crept
3) woven

3aoanue 3
1-52-33-74-25-6 6-1 7-4
3aoanue 4

1) b;

2)c;

3)b

I1. IIpoBepka MOHMMaHUA TEKCTA

3aoanue 1

1.B

2. A



3.B
I11. ITpoBepKa JIMHIBOCTPAHOBEAYECKUX 3HAHM

3aoanue 1

1. C. Nigeria

2. B. In God is our trust

3. C. Canberra
IV. IIpoBepka HaBBIKOB ayAUPOBAHUSA

3aoanue 1

Welcome to rush hour and its close friend an infuriating phenomenon known as traffic. If
you’re unlucky enough to commute in New York City or Los Angeles you could end up spending
the equivalent of three weeks per year stuck in traffic. Drivers know that accidents, construction,
stall vehicles and just a sheer number of people on the road all contribute to traffic.

The real culprit however is speed or rather sudden random fluctuations in speed. When
drivers travel at a constant rate traffic flows freely. But when even a single driver hits the breaks,
the flow is interrupted causing a chain reaction among the vehicles behind that driver. Those
vehicles must slow down to avoid a collision and then speed back up to restore the previous flow.
If the change in speed isn’t too drastic this leads to what, physicists call, synchronized flow. A
traffic jam occurs when drivers break abruptly. This causes the vehicles behind them to slow down
or even come to a stop. Vehicles enter the back of the jam at a faster rate than the slower moving
lead vehicles can accelerate out of it. The result: a traffic jam persists until the volume of incoming
vehicles drops slow enough to allow the lead vehicles to restore the flow.

So, what can be done to prevent traffic jams? Roads can be widened and traffic signals can
be better synchronized and researchers like the ones at Google can build driverless cars that travel
at more constant speeds. Of course ultimately the only way to really avoid traffic is to stay off the
roads all together.

3aoanue 2
Statements True | False Not
Stated
The most typical factors causing traffic jams in New York and +

Los Angeles are accidents, construction and stall vehicles.

Vehicles that break the speed of the flow often get into a +
collision.

A traffic jam lasts until the amount of incoming vehicles is | +
lowered so that the lead vehicles can restore the flow.




